
1. Grupa 

1. Izračunati: 
𝑎

𝑎𝑏−𝑏2
+

𝑏

𝑎2−𝑎𝑏
−

𝑎+𝑏

𝑎𝑏
= 

2. Odrediti 𝑃(𝑥) + 𝑄(𝑥) i 𝑃(𝑥) − 𝑄(𝑥) ako je 

 𝑃(𝑥) = 5𝑥4 + 4𝑥3 − 8𝑥 + 10; 𝑄(𝑥) = −7𝑥3 + 13𝑥 − 10𝑥4 − 5. 

3. Izračunati: 
𝑥2−8𝑥+16

𝑥𝑦−4𝑦
 

4. Rešiti jednačinu: 
5−𝑥

6
= 1 −

7𝑥+2

12
 

 

 

2. Grupa 

1. Izračunati: 
𝑥2

𝑥2−𝑥𝑦
+

𝑦2

𝑥𝑦−𝑦2
−

2𝑦

𝑥−𝑦
= 

2. Odrediti zbir i razliku polinoma 𝑃(𝑥) = 𝑥4 − 16𝑥2 + 13𝑥 − 7;   

𝑄(𝑥) = −𝑥4 − 3𝑥2 − 23𝑥 + 18. 

3. Izračunati: 
𝑥3−𝑥

𝑥3+2𝑥2+𝑥
 

4. Rešiti jednačinu: 
𝑥+2

5
− 3 =

𝑥−1

2
− 𝑥 

 

 

3. Grupa 

1. Izračunati: 
𝑥

𝑥𝑦−𝑦2
+

𝑦

𝑥2−𝑥𝑦
−

𝑥+𝑦

𝑥𝑦
 

2. Odrediti zbir i razliku polinoma 𝑃(𝑥) = 14𝑥3 + 7𝑥2 − 6𝑥 − 3; 

𝑄(𝑥) = −3𝑥3 + 2𝑥2 + 5𝑥 − 29. 

3. Izračunati: 
5𝑎2+10𝑎𝑏+5𝑏2

15𝑎2−15𝑏2
 

4. Rešiti jednačinu: 
𝑥−1

4
=

1

2
−

6−5𝑥

8
 

 

 

4. Grupa 

1. Izračunati: 
𝑥2+𝑦2

𝑥𝑦
−

𝑥2

𝑥𝑦+𝑦2
−

𝑦2

𝑥2+𝑥𝑦
 

2. Ako je 𝑃(𝑥) = −4𝑥3 + 5𝑥2 − 8𝑥 − 5;   𝑄(𝑥) = 10𝑥3 − 5𝑥2 + 2𝑥 − 6, odrediti 

zbir i razliku polinoma. 

3. Izračunati: 
𝑎2−9

𝑎𝑏+3𝑏−𝑎−3
 

4. Rešiti jednačinu: 
5(𝑥−2)

4
= −

𝑥

3
+ 2𝑥 

 
1. Grupa 

1. Izračunati: 
𝑎

𝑎𝑏−𝑏2
+

𝑏

𝑎2−𝑎𝑏
−

𝑎+𝑏

𝑎𝑏
= 

2. Odrediti 𝑃(𝑥) + 𝑄(𝑥) i 𝑃(𝑥) − 𝑄(𝑥) ako je 

 𝑃(𝑥) = 5𝑥4 + 4𝑥3 − 8𝑥 + 10; 𝑄(𝑥) = −7𝑥3 + 13𝑥 − 10𝑥4 − 5. 

3. Izračunati: 
𝑥2−8𝑥+16

𝑥𝑦−4𝑦
 

4. Rešiti jednačinu: 
5−𝑥

6
= 1 −

7𝑥+2

12
 

Решења задатака слати на dragica.gaga.gajic@gmail.com до 06.04.2020. 

mailto:dragica.gaga.gajic@gmail.com

